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1(&38) 2(KEY) 3(K) 4(FREY) 5(8) ==

B[R] 2,983 218 9 253 233 69 3,696
SRR 758 63 4 61 137 21 1,023
aF= 838 95 9 88 132 34 1,162
=R 2,197 144 9 125 349 139 2,824
AR 666 49 0 25 109 5 849
LR 967 68 2 52 137 32 1,226
EER 1,942 180 21 143 364 90 2,650
KR 3,848 249 4 307 525 182 4,933
N 2,550 124 2 142 378 110 3,196
HER 3,270 198 0 267 467 130 4,202
BEE 10,807 540 28 925 2,151 594 14,451
FEE 8,237 420 38 695 1,247 445 10,637
RRED 19,091 327 21 780 2,620 1,101 22,839
fESNS 14,337 357 12 747 2,154 825 17,607
Hino i 2,182 143 4 146 337 89 2812
2R 1,108 50 2 54 145 37 1,359
alllR 1,360 68 1 57 160 39 1,646
BHE 1,044 39 2 36 134 19 1,255
LLBR 1,092 46 4 70 174 37 1,386
REFE 2,107 108 7 122 384 84 2,728
I RIS 2,289 137 2 126 333 72 2,887
EEIR 4,083 249 7 277 889 198 5,505
BHIR 11,477 456 14 577 1,416 460 13,940
=ER 2,070 129 4 89 418 75 2,710
BER 1,402 93 3 58 254 56 1,810
RERRT 2,474 118 16 129 525 212 3,262
ARRAT 10,252 681 38 992 1,584 653 13,547
"ER 5,933 296 23 251 1,022 348 7,525
ZRE 1,298 98 2 70 195 51 1,663
AL 814 90 4 89 200 45 1,197
SR 574 35 0] 16 89 19 714
ERE 611 26 2 25 148 17 812
A L= 1,856 165 10 127 414 109 2,572
LBE 2,760 156 6 176 606 182 3,704
Hijm[= 1,367 81 8 58 310 42 1,824
e 624 48 0 25 144 27 841
&HIIE 828 79 8 62 158 65 1,135
BER 1,044 61 0 a7 293 92 1,445
=S 499 32 0] 13 141 28 685
ERR 4,900 316 7 372 947 306 6,542
EER 493 63 1 34 121 32 712
RIBE 790 38 0 39 202 57 1,069
HEARIR 1,214 99 5 85 250 88 1,653
AHE 802 50 O] 42 179 47 1,073
=IFE 768 49 0 37 145 29 999
BREE 1,057 95 5 88 180 47 1,425
RIS 354 7 2 20 37 17 420
tT=4 0 0 0 0 0 0 0

a&t 144,017 7,233 346 9,019 23,537 7.456 184,152
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B[R] 2,179 147 1 188 192 49 2,707
SRR 630 40 1 43 128 17 842
aFR8 643 64 1 65 121 29 894
=R 1,634 84 4 70 298 113 2,090
AR 534 40 0 21 98 5 693
LR 749 35 2 32 121 24 939
EER 1,576 114 5 97 316 64 2,108
KR 3,071 165 3 209 427 128 3,875
N 2,024 97 1 94 331 87 2,547
HER 2,648 134 0 215 397 100 3,394
BEE 8513 410 21 713 1,768 435 11,425
FEE 6,411 289 3 528 1,042 330 8,273
RRED 14,460 217 5 567 2,226 883 17,475
fESNS 11,709 244 2 609 1,837 660 14,401
Hino i 1,724 95 3 95 301 71 2,218
2R 830 37 0 40 131 33 1,038
alllR 1,008 45 1 38 137 26 1,229
BHE 810 21 1 24 113 14 969
LLBR 886 28 1 61 157 29 1,133
REFE 1,645 67 0 78 335 63 2,125
I RIS 1,806 68 2 94 292 50 2,262
EEIR 3,268 157 0 211 782 156 4418
BHIR 8,796 318 4 416 1,169 344 10,703
=ER 1,745 77 1 56 379 60 2,258
BER 1,134 52 0 30 221 42 1,437
RERRT 1,991 73 9 81 441 155 2,595
ARRAT 7,887 448 3 727 1,321 500 10,386
"ER 4,591 220 7 175 850 270 5,843
ZRE 1,027 36 0 49 166 37 1,278
AL 613 69 0 71 163 35 916
SR 475 20 0] 13 84 17 592
ERE 513 16 0 20 132 13 681
A L= 1,433 79 1 79 357 76 1,949
LBE 2,248 89 3 108 514 135 2,962
Hijm[= 1,102 51 0] 39 284 34 1,476
e 513 36 0 16 131 20 696
&HIIE 630 51 6 39 134 49 860
BER 815 44 0 31 238 61 1,128
=R 413 16 0] 10 123 21 562
ERR 3,619 174 1 262 813 225 4,869
EER 392 37 0 25 101 26 555
RIBE 606 23 0 26 174 44 829
HEARIR 925 73 4 63 221 75 1,286
AHE 620 21 O] 20 162 40 823
=IFE 646 34 0 23 129 24 832
BREE 850 68 3 58 158 37 1,137
FHEE 259 4 0] 11 34 16 308
tT=4 0 0 0 0 0 0 0

a&t 112,601 4,727 99 6,540 20,049 5,722 144,016






